Review for Quiz tomorrow



 DH,LP...
 West, south, east .....
100, 81, 64, 49, .......



“If two rays have the same endpoint, then they
form a straight angle.”

“If two angles are supplementary, then they are a
linear pair



Conditional statement: If

Converse statement: If

Inverse statement: If

then

then

then

Contrapositive statement: If

then



Write the statement as a conditional
statement “ A car has four wheels”

Write the converse

Write the inverse

Write the contrapositive



* Name the hypothesis and the conclusion

— If an angle is acute then it’s measure is 30 degrees

— |f Sue finishes her science project then she can go
to the movies

— The sum of two angles is 180 degrees if they are
supplementary angles



